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(→  HHl
(C)  11011
2's compliment Of 10101 is―

(O HHl
(C)  11011

(b)  01010

(d)  01011

(b)  01010

(d)  01011
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Whatis the basc Ofoctal system?

(a) 16
(c)8
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(a) AND]R
(c) EX‐ ORl区
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(b) OR弧

(d) NOR]区

Which ofthe Following is an un市ersal gate?

8飢R‰   8R:∫槻
(vi) E-{-d+tr{ifu! .

(a) q6 3TFrdq6{fr'td G)

(c) q'{snrdq6{fr4n (d)

A de-multiPlexer has -
(a) One inPut and several outPut

(b) One inPut and one outPut

(c) Several input and several output

(d) Several inPut and one outPut

(vii) ft -*rlc rill 6I TE Eiil-6 i -

qe srFmqq6f{'ia
e{:nrdqqsft,ia

(a) A+-B=A'B O) A'B=A+B 
-(c) a'g=A+E (d) A +B=A+ B

iorrect expression of De-Morgan's theorcn is --
(a) A+E=A'B O) A'B=A+B 

-(c) ffi=a+E (d) A +B=A+ B



IE31X13                      (3 of4)
・

(宙|)。 H“ 師瓢爾 コ隔 甲合ヽヽR3Ч毬
輛 き―

(a)磁

(C)   3「ξl―~

(b) qsrs

(d) wefua
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Which is suitable to ind time intewal?

(a)  Register

(C) Half adder
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0薇 埼葛
(C)(a)可 0)輌
“C卿∝y''iS Obtained in output of―

(a) Half adder

(C) Both(a)and(b)

●)COunter
(d) Encoder

o)■―赫
(d)-ltttN可ぎ

ぐ,) Fun adder

(d)Nonc ofthe above

(x) rgmftv-wft qil Gasqq Egdl 
qroi -

(; xqsnq-6i G) ftfraswml
(c) q!ff'Iqr{ (d) 3ctftit*iT6
Delay time of used flipflops is additive -
(a) In ripple counters (b) In synchronous counters

(c) In all counters (d) None of the above

tilq-{
Scction - B

z. oftrc-ffi q,Ivfu qdreark*rc-{rri t

Draw the symbol and truth table of D flipflop'

3. s$q-ffi {ql 108 dfdailqrt{qriqftlsfrafrPqq t

Covert decimal number t 08 into binary number'

4. r#wrqrscfrqili ?

What is the use of multiPlexer ?

5. ff-srrlaNeNPfuff reilfu+rr+r{t t

Prepare truth table of three-input NAND gate'

6. r-tqi silq gr+IEru.6qtiqrqrgti t

What do you understand by redundant goup in K-map ?

(3)

(3)

(3)

(3)

(3)
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7. qr{ritrsrni srrcelsryet t
What do you undersand by universal gate r (3)

8. q55{-f*+erfrlr+r{i t

Draw sketch of a half-adder' (3)

9. fffiIqi qRrfi + r<{ t ioff -qrm-n"fi -f i-d t 3ilc wr sf,ct t ?

Whatdoyouunderstandbyserial-in.seriat.outincontexttoshiffrcgister?(3)

ftw-{
Scction - C

lo. J-Kfrq-wiqfr q,rffi qrqulq$Pcq t

Explain the working of J-K fliPfloP'

I l. NAND-ERfr rro{dli oRarn NOnEKrfi} t

Construct OR and NOR gats rsing NANDgate'

12. ss orflsfi s$cdl i'r i t fr-r&*sr 6qrffi qcgEa t

Explain the working of"l to 8 de-multiplexer" using neat sketch'

13. ftH d+l+ftglqIfl Ercr+ 5P6frP<q :

(a) (0.43)ro

O) (-{5)ro

Find binary equivalent number of following numbers :

(a) (0.43)ro

(b) (-65)ro

t+. ir6q erftq w re ttPa-+r 6 vtrra t $ w<m+ A or{-fafu qlrsrri t

Explain the working of full-subtractor using logic diagram and ruth table' (8)

15. ils-7 {orfi ff orffi dsrcr{i t

(8)

(8)

(8)

(8)
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working of Mod-7 counter. (3)


